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Part II Reading Comprehension (35 minutes)

Directions: There are four passages in this part. Each passage is
followed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D). You should
decide on the best choice and mark the corresponding letter on the An-

swer Sheet with a single line through the center.

Passage 1 _
Questions 21 to 25 are based on the following passage :

The beaver (i J#)is North America’s largest rodent (small
plant-eating animal). As such, it is a close relative of two creatures
that are not held in particularly high regard by most experts of
wildlife, the porcupine (E£%%)and the rat. Even so, the beaver has
several qualities that endear it to people: it is monogamous (having
only one wife or husband at time) and lives in a family unit; it 1s
gentle and clean; it is absolutely industrious.

The ‘beaver’s legendary capacity for hard work has produced
some astonishing results. In British Columbia, for example, one
ambitious creature cut down a cottonwood tree that was 110 feet tall
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and more than five feet thick. In New Hampshire. beavers con-
structed a dam that was three-fourths of a mile long and the body of
water it created contained no fewer than 40 lodges. In Colorado.
beavers were responsible for the appearance of a canal that was a
yard deep and ran for 750 feet. Fach adult beaver in Mas-
sachusetts, according to one researcher’s calculations, cuts down
more than a ton of wood every year.

Beavers appear to lead exemplary (praise-worthy) lives. But
the beaver’s strong liking for building dams, lodge, and canals has

got it into a lot of hot water lately. People who fish in the Midwest

and New England are complaining about beaver dams that spoil
streams for trout, a kind of fish, and, in the Southeast, loggers ob-
ject whenever the animals flood out valuable stands of commercial -
wood. But some beaver experts fight for a more generous view.

Historically, they say, this creature’s impact on the environment

has been tremendously significant, and its potential as a practical

conservation resource is receiving more and more attention.

-

21. What does the passage mainly discuss?

A) Characteristics and habits of the beaver.
B) Forest animals as conservation resources..
C) Rodents of North America.
D) The beaver’s role in building canals.

+22: In the first paragraph, the author implies that the porcupine
and the rat are .
A) gentle and clean
B) not found in North America
C) disliked by experts of wildlife

D) monogamous and live in a family unit



24.

. According to the passage, a beaver in British Columbia

was responsible for

A) cutting down a ton of wood

B) constructing a 750-foot canal

C) building a dam almost a mile long

D) cutting a 110-foot cottonwood tree down

According to the passage, beavers have been the subject

of complaining because they N

A) contribute to soil erosion by cutting down so many trees
B) build dams that ruin popular fishing area

C) attack people who are close to them

D) destroy log cabins

5. The paragraph following the passage probably discuss

A) examples of destructive forest-dwelling rodents
B) favorite {ish streams in New England
C) reasons for the beaver’s popularity among loggers

D) ways in which the beaver acts as a conservation resource

Passage 2

Questions 26 to 30 are based on the following passage:

Scientists estimate that about 35,000 other objects, too small

to detect with radar but detectable with powerful Earthbased tele-

scopes, are also circling the earth at an altitude of 200 to 700 miles.

This debris (remains) poses little danger to us on the earth, but

since it is traveling at average relative speeds of six miles per sec-

ond, it can severely damage expensive equipment in a collision. this

threat was dramatized by a hole one-eighth of an inch in diameter
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created in a window of a United States space shuttle in 1983. The

hole was determined to have been caused by a collision with a speck
(spot) of paint traveling at a speed of about two to four miles per
second. The window had to be replaced.

As more and more nations put satellites into space, the risk of
collision can only increase. Measures are already being taken to con-
trol the growth of orbital debris. The United States has always re-
quired its astronauts to bag their wastes and return them to earth.
The United States Air Force has agreed to conduct low-altitude
rather than high-altitude tests of objects it puts into space so debris
from tests will reenter the Earth’s atmosphere and burn up. Extra
shielding will also reduce the risk of damage. For example, 2,000
pounds of additional shielding is being considered for each of six
space-station crew modules (a part of a spacecraft which can do cer-
tain things independently, often away from the main part of the
spacecraft).. Further, the European Space Agency, an international

organization, is also looking into preventive measures.

26. Which of the following would be the best title for the passage?
A) The Problem of Space Debris.
B) The Space Shuttle of 198?;.
C) The work of the European Space Agency.
D) A Collision in Space.

27. 1t can be inferred from the passage that debris was harmful to
one of the space shuttles because the debris was
A) large B) moving very fast
C) very hot D) burning uncontrollably

- 2_8.¢ What effect did orbital debris have on one of the space shuttles?
6



A) It removed some of the paint. v
B) It damaged one of the windows.
C) 1t caused a loss of altitude.
D) It led to a collision with a space station.

29. The word “them” in line 15 refers to which of the following?
A) Astronauts B) Wastes C) Tests D) Crew modules

30. Which of the following questions is NOT answered by the in-
formation in the passage?
A) How can small objects traveling around the Earth be seen?
B) What is being done to prevent orbital debris from increas-

ing?

C) Why is the risk of damage to space equiprr;ent likely to in-

crease?

D) When did the United States Air Force begin making tests

in space?

Passage 3
Questions 31 to 35 are based on the following passage:

In the past oysters(}L#j) were raised in much the same way as
dirt farmers raised tomatoes-by transplanting them. First, farmers
selected the oyster bed, cleared the bottom of old shells and other
debris, then scattered clean shells about. Next, they “planted” fer-
tilized oyster eggs, which within two or three weeks broke through
eggs and became larvae. The larvae drifted until they attached
themselves to the clean shells on the bottom. There they remained
and in time grew into baby oysters called seed or spat. The spat
grew larger by drawing in seawater from which they derived micro-

scopic partlcleq of food. Before long. farmers gathered the baby
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oysters, transp]antcd them in other waters to speed up their
growth, then transplanted them once more into another body of
water to fatten them up.

Until recently the supply of wild oysters and those crudely
farmed were more than enough to satisfy people’s:needs. But today
the delicious seafood is no longer available in abundance. The prob-
lem has become so serious that some oyster beds have vanished en-
tirely. ,

Fortunately. as far back as the early 1900’s marine biologists
realized that if new measures were not taken, oysters would become
extinct or at best a luxury food. So they set up well-equipped ma-
chines and went to work. But they did not have the proper equip-
ment or the skill to handle the eggs. Ther did not know when,
what, and how to feed the larvae. And they knew little about the
predators that attack and eat baby oysters by the millions. They
failed, but they doggedly kept at it. Finally, in the [940% & signifi—w
cant breakthrough was made.

The marine biologists discovered that by raising the tempera-
ture of the water, they could induce oysters to lay eggs not only in
the summer but also in the fall, winter, and spring. Later they de-
veloped a technique for feeding the larvae and raising them to spat.

Going still further, they succeeded in breeding new strains that

were resistant to diseases. grew faster and larger, and flourished in

water of different salinities(£h ¥ J¥f Jand temperatures. In addition,

the cultivated oysters tasted better!

31. Which of the following would be the best title for the passage?
A) The Threatened Extinction of Marine Life.



33.

35.

B) The Culuvation of Oysters.
C} The Discoveries Made hy Marine.
D) The Varieties of Wild Ovsters.

2. In the first paragraph. the production of oysters is compared

what other industry?

A) Mining. B) Fishing. C) Banking. D) Farming.
When did scientists discover that oysters were in danger?
A) 1In the early part of the nineteenth century.

B) At the beginning of this century.

C) In the 1940%.

D) Just recently.

. In what paragraph does the author describe successful methods

for increasing the oyster population?

A) First. B) Second.  C) Third. D) Fourth.

Which of the following best describes the organization of the
passage?

A) Step by step description of the evolution of marine biclogy.

B) Discussion of events concerning oyster production according

to the order of time.
C) Random presentation of facts about oysters.

D) Description of oyster production at different geographic lo-

cations.

Passage 4

Questions 36 to 40 are based on the following passage:

Dry regions in the south western United States have become

increasingly inviting playgrounds for the growing number of recre-

ation seekers who own vehicles such as motoreycles or powered trail
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